

Page 1 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Road		Roadway		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	17,650.00000	17,650.00				
_	RMANCE BOND AND IT BOND	DOLL						
0004	153003P	(1)	38,000.00000	38,000.00				
PROGRE	ESS SCHEDULE	LS						
0005	153005M	5.000	8,000.00000	40,000.00				
PROGRE	ESS SCHEDULE UPD	ATE U						
0006	153011M	750.000	100.00000	75,000.00				
TRAINE	ES	HOUR						
0007	154003P	(1)	375,000.00000	375,000.00				
MOBILIZATION LS								
0010	157004M	1.000	38,000.00000	38,000.00				
CONSTR	RUCTION LAYOUT	DOLL						



Page 2 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member G	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Road		Roadway		Cat Alt	Set:	Cat A	It Member:	
0014	159003M	100.000	1.00000	100.00				
BREAKAV	VAY BARRICADE	U						
0015	159006M	500.000	1.00000	500.00				
DRUM		U						
0016	159009M	1,000.000	35.00000	35,000.00				
TRAFFIC	CONE	U						
0017	159012M	1,922.500	30.50000	58,636.25				
CONSTRU	JCTION SIGNS	SF						
0018	159015M	4.000	1,500.00000	6,000.00				
CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'								
0019	159027M	8.000	2,500.00000	20,000.00				
ARROW E	BOARD, 4' X 8'	U						



Page 3 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0020	159030M	5.000	18,000.00000	90,000.00				
PORTAB SIGN	LE VARIABLE MESSAGE	U						
0021	159108M	4.000	10,000.00000	40,000.00				
	CONTROL TRUCK WITH ED CRASH CUSHION	U						
0022	159138M	50.000	750.00000	37,500.00				
HMA PA	тсн	Т						
0023	159141M	1,000.000	175.00000	175,000.00				
TRAFFIC	DIRECTOR, FLAGGER	HOUR						
0024	159262M	4.000	2,500.00000	10,000.00				
CONSTR SIGN, IIJ	RUCTION IDENTIFICATION A 8' X 5'	N U						



Page 4 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Line No / Ite Item Descrip			(1) ASPHAL SYSTEM					
Alt Set / Alt l	Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: (0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0025 159	300M	274,350.000	0.50000	137,175.00				
TRAFFIC STRI	IPES, LATEX, 4"	LF						
0026 159	302M	2,145.000	0.51000	1,093.95				
TRAFFIC STRI	IPES, LATEX, 8"	LF						
0027 1599	312M	165.000	0.94000	155.10				
TRAFFIC MAR LATEX, 8"	KINGS LINES,	LF						
0028 159	313M	105.000	1.25000	131.25				
TRAFFIC MAR LATEX, 12"	KINGS LINES,	LF						
0029 1599	314M	3,300.000	1.44000	4,752.00				
TRAFFIC MAR LATEX, 24"	KINGS LINES,	LF						



Page 5 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	t Set:	Cat A	It Member:	
0030	159320M	1,020.000	2.50000	2,550.00				
TRAFFIC LATEX	MARKINGS SYMBO	_S, SF						
0031	160004M	1.000	600.00000	600.00				
FUEL PF	RICE ADJUSTMENT	DOLL						
0032	160007M	1.000	600.00000	600.00				
ASPHAL	T PRICE ADJUSTMEN	NT DOLL						
0033	161003P	(1)	38,000.00000	38,000.00				
FINAL C	LEANUP	LS						
0034	201003P	(1)	40,000.00000	40,000.00				
CLEARING SITE LS								
0035	401009P	385.000	69.93000	26,923.05				
HMA MIL	LING, 3" OR LESS	SY						



Page 6 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Al	Set:	Cat A	It Member:	
0036	401021M	400.000	200.00000	80,000.00				
HOT MIX REPAIR	(ASPHALT PAVEMEN	T SY						
0037	401024M	1,000.000	8.00000	8,000.00				
	OF CRACKS IN HOT T SURFACE COURSE	MIX LF						
0038	401027M	250.000	12.50000	3,125.00				
POLYME	RIZED JOINT ADHESI	VE LF						
0039	401030M	26,110.000	3.90000	101,829.00				
TACK CO	DAT	GAL						
0040	401054M	43.000	1,004.02000	43,172.86				
_	ASPHALT 12.5 M 64 E COURSE	Т						



Page 7 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set:		Cat A	It Member:	
0041	401113M	500.000	200.00000	100,000.00				
HMA LOI REPAIR	NGITUDINAL JOINT	SY						
0042	421007M	42,020.000	4.98000	209,259.60				
MICROP	AVING JOINTS	LF						
0043	421010M	1,771.000	133.62000	236,641.02				
SLURRY II	SEAL AGGREGATE	T, TYPE T						
0044	421011M	52,176.000	12.94000	675,157.44				
SLURRY	SEAL EMULSION	GAL						
0045	602099M	8.000	2,462.25000	19,698.00				
RESET E	EXISTING CASTING	U						



Page 8 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS, INC.				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0046	602123M	2.000	4,337.50000	8,675.00				
	STRUCTED INLET, T XISTING CASTING	YPE B, U						
0047	602129M	1.000	5,237.50000	5,237.50				
	STRUCTED INLET, T EXISTING CASTING	YPE E, U						
0048	602153M	2.000	5,400.00000	10,800.00				
	STRUCTED INLET, T'IEW CASTING	YPE B, U						
0049	602159M	1.000	6,175.00000	6,175.00				
	STRUCTED INLET, T'IEW CASTING	YPE E, U						
0050	602213M	10.000	2,344.80000	23,448.00				
CURB PI	ECE	U						



Page 9 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set:		Cat A	It Member:	
0051	606021P	70.000	410.86000	28,760.20				
CONCRE	ETE SIDEWALK, 8"	THICK SY						
0052	606084P	5.000	625.00000	3,125.00				
DETECT	ABLE WARNING SU	JRFACE SY						
0053	607069P	88.000	222.14000	19,548.32				
-	RIABLE HEIGHT ETE VERTICAL CUR	LF RB						
0054	610003M	182,900.000	0.72000	131,688.00				
TRAFFIC	STRIPES, 4"	LF						
0055	610007M	1,430.000	1.30000	1,859.00				
TRAFFIC	STRIPES, 8"	LF						



Page 10 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0056	610012M	60.000	55.50000	3,330.00				
RPM, MO LENS	DNO-DIRECTIONAL,	WHITE U						
0057	610014M	110.000	3.00000	330.00				
TRAFFIC	MARKING LINES, 8'	LF						
0058	610016M	70.000	4.38000	306.60				
TRAFFIC	MARKING LINES, 12	2" LF						
0059	610017M	2,200.000	7.50000	16,500.00				
TRAFFIC	MARKING LINES, 24	1" LF						
0060	610018M	35.000	55.50000	1,942.50				
RPM, MO AMBER I	ONO-DIRECTIONAL, LENS	U						



Page 11 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member Q	tuantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt Set:		Cat A	It Member:	
0061	610021M	690.000	55.50000	38,295.00				
RPM, BI- LENS	DIRECTIONAL, AMBER	R U						
0062	610024M	785.000	80.00000	62,800.00				
REMOVA	AL OF RPM	U						
0063	610033M	38,200.000	0.80000	30,560.00				
RUMBLE	STRIP	LF						
0064	610036M	184,330.000	0.80000	147,464.00				
REMOVA	AL OF TRAFFIC STRIPE	ES LF						
0065	610039M	5,230.000	9.50000	49,685.00				
REMOVA	AL OF TRAFFIC MARKI	NGS SF						
0066	610060M	680.000	9.88000	6,718.40				
TRAFFIC	MARKINGS SYMBOLS	S SF						



REGULATORY AND WARNING

SIGN

Tabulation of Bids

Page 12 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 Project(s): 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Memb	per Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	t Set:	Cat A	It Member:	
0067 612003P	114.500	55.00000	6,297.50				

Section Totals: \$3,388,794.54

SF



Page 13 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat Alt	Set:	Cat A	It Member:	
0008 155018M	1.000	48,000.00000	48,000.00				
FIELD OFFICE TYPE F SET U	JP U						
0009 155036M	10.000	9,000.00000	90,000.00				
FIELD OFFICE TYPE F MAINTENANCE	MO						

Section Totals: \$138,000.00



Page 14 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	(Non-Participati	ing (Roadway	Cat Alt	Set:	Cat A	It Member:	
0002 152012P	1.000	3,840.00000	3,840.00				
RAILROAD PROTECTIVE LIA	ABILITY DOLL						
0003 152015P	1.000	20,000.00000	20,000.00				
POLLUTION LIABILITY INSU	RANCE DOLL						

Section Totals: \$23,840.00



Page 15 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0011	158009M	2,463.000	49.47000	121,844.61				
HEAVY D ORANGE	UTY SILT FENCE,	LF						
0012	158063P	(1)	7,500.00000	7,500.00				
CONCRE	TE WASHOUT SYST	EM LS						
0013	158072M	4.000	2,500.00000	10,000.00				
OIL ONLY TYPE 1	/ EMERGENCY SPILI	L KIT, U						

Section Totals: \$139,344.61



Page 16 of 16

Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 District(s): N1

Call Order: 706 **Project(s):** 0202339

Contract Time: 08/23/24 COMPLETION DATE Min: Max:

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Landso	cape	Cat Alt	Set:	Cat A	It Member:	
0068 805005M	500.000	90.65000	45,325.00				
STABILIZED TURF	SY						
Section Totals:			\$45,325.00				

Contract Totals	\$3,735,304.15	
Cost Plus Time Totals	\$3,735,304.15	

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 706 Contract ID: 23140 Counties: SOMERSET

Letting Date: October 12, 2023 10:00 AM District(s): N1

Contract Time: 08/23/24 COMPLETION DATE

Contract Description: Rt 202, CR 512 (Liberty Corner Rd) to MacCulloch Ave Project(s): 0202339

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$3,735,304.15	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.